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psi16 = FullSimplify@x *%- D@%, xDD êSqrt@2 * 16D
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z@x_D := psi15

Plot@z@xD, 8x, −10., 10.<, PlotStyle → 88Thickness@0.005D, RGBColor@0, 0, 0D<<D
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c = Plot@Hz@xDL2, 8x, −10., 10.<,
PlotStyle → 88Thickness@0.005D, RGBColor@0, 0, 0D<<D
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b@x_D :=
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Pi*SqrtHa2 - x2L
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d = Plot@b@xD, 8x, −a, a<, PlotStyle → 88Thickness@0.01D, RGBColor@1, 0, 0D<<D

-4 -2 2 4

0.1

0.2

0.3

0.4

0.5

0.6

Ü Graphics Ü

Show@c, dD
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y@x_D := psi0
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Plot@y@xD, 8x, −10., 10.<, PlotRange → 8−1., 1.<,
PlotStyle → 88Thickness@0.005D, RGBColor@0, 0, 0D<<D
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e@x_D := psi1

Plot@e@xD, 8x, −10., 10.<, PlotRange → 8−1., 1.<,
PlotStyle → 88Thickness@0.005D, RGBColor@0, 0, 0D<<D
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f @x_D := Hpsi0+ psi1L êSqrt@2.D
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Plot@f@xD, 8x, −10., 10.<, PlotRange → 8−1., 1.<,
PlotStyle → 88Thickness@0.005D, RGBColor@0, 0, 0D<<D
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c = Plot@f@xD^2, 8x, −10., 10.<, PlotRange → 80., 1.<,
PlotStyle → 88Thickness@0.005D, RGBColor@0, 0, 0D<<D
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f@x_, t_D := ReAikjjjpsi0∗ExpAI∗ikjjj 1
cccc
2

y{zzz∗tE + psi1∗ExpAI∗ikjjj1 + 1
cccc
2

y{zzz∗tEy{zzz∗ikjjjpsi0∗ExpA−I∗ikjjj 1
cccc
2

y{zzz∗tE + psi1∗ExpA−I∗ikjjj1 + 1
cccc
2

y{zzz∗tEy{zzz ì 2.E
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Do@Plot@ f @x, tD, 8x, -3, 3<, Axes Æ False, PlotRangeÆ 80, 1.0<D, 8t, 0, 2 *Pi, .2<D
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